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3.  3UHY 39 1 FueRiEd 3TRIY 84 W i 91 ATHR BT 8 ?

(a) 39T (b) FATIE (c) IH (d) ®IH

4. ‘@ vreg o foTQ Suged A @
(a) g H TSt HIAAT b Y TS AT
(b) TSrerht &9 o[ & 7T B
(c) YU dieht g =t it eht e et Huf
(d) TSrepT avia ST G T &

5. ‘gHd ! ifehel’ HETe 1 Hd 7Y B
(a) AMGTEA T UATH HTH FTAT (b) Hicd & Y1 L aTeAl
(c) TT-hel The B aTeAT (d) 3T T ATH I3 TATeAT
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7.  ‘GTHN e fhE YT HIR 7

(a) 3T (b) wwd (c) Teht (d) rEE
8. 3H gEqu < fommar T8 B
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(c) STEYUT <t TS TR & | (d) ITEYT h TS TTA & |

9. TTH g I AT TG B :
(a) LT (b) e (c) IR (d) It
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PART-2
General Knowledge & General Studies
In which year Akbar started Din-i-Ilahi ?

(a) 1580 (b) 1581 (c) 1582 (d) 1583

Who among the following was not a member of the Cabinet Mission (1946) ?

(a) Pathick Lawrence (b) A.V. Alexander

(c¢) William Wedderburn (d) Stafford Cripps

Who was the Viceroy of India at the time of partition of Bengal in 1905 ?

(a) Lord Ripon (b) Lord Elgin (¢) Lord Curzon (d) Lord Canning
Who wrote the book named ‘Social Contract’ ?

(a) Voltaire (b) Thomas Paine (c) Montesquieu (d) Rousseau
Bailadila is famous for which of the following mineral ?

(a) Limestone (b) Iron ore (c) Coal (d) Nickel

‘U’ shaped valley is formed by which of the following geomorphic agent ?

(a) Glacier (b) River (¢) Wind (d) Underground water
Which one of the following Indian state has longest coastline ?

(a) Maharashtra (b) Kerala (¢) Tamil Nadu (d) Gujarat

Gurushikhar is situated in .

(a) Aravali Range (b) Assam Himalaya (c¢) Vindhyan Range (d) Satpura
Vedda tribe is found in .

(a) Thailand (b) New Zealand (c) Tasman (d) Sri Lanka

Who was the Governor General and Viceroy of India when the Vernacular Press Act, 1878
was passed ?

(a) Lord Mayo (b) Lord Lytton (c¢) Lord Ripon (d) Lord Dufferin
In which of the following case Ramprasad Bismil and Asfaqullah were hanged ?

(a) Kakori Conspiracy Case (b) Lahore Conspiracy Case

(c) Central Assembly Bomb Case (d) Chatgaon Case

Which one of the following was a Marathi nationalist writer ?

(a) Laxminath Bejbarua (b) Vishnushastri Chiplunkar

(¢) Subramanium Bharati (d) Bhartendu Harishchandra

Which amendment of the constitution made it clear that the number of ministers including
the Prime Minister shall not exceed 15% of the total strength of Lok Sabha ?

(a) 89™ Amendment (b) 90™ Amendment

(¢) 91 Amendment (d) 92" Amendment

Which one of the following is the headquarters of the United Nations Human Rights
Commission ?
(a) Rome (b) New York (c) Geneva (d) Hague

Illegal migrants from which one of the following country are not eligible for Indian
citizenship under the Citizenship (Amendment) Act, 2019 ?
(a) Afghanistan (b) Sri Lanka (c) Bangladesh (d) Pakistan
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(a) 1580 (b) 1581 (c) 1582 (d) 1583
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(a) AIH AR (b) T et (¢) afermagEd (d) W% frwm
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In which of the following year ‘Startup India’ programme was launched by Government of
India ?

(a) 2014 (b) 2017 (c) 2016 (d) 2018
Who was the last Chairman of “Planning Commission, Government of India” ?
(a) Dr. Manmohan Singh (b) Shri Narendra Modi
(c) Dr. Montek Singh Ahluwalia (d) None of the above
In which of the following year “Patent Act” was introduced in India ?
(a) 1968 (b) 1970 (c) 1975 (d) 1980
In which of the following year First Five Year Plan was introduced in India ?
(a) 1954 (b) 1955 (c) 1956 (d) 1951
In which of the following year Government of India started “Twenty Point Programme” ?
(a) 1980 (b) 1978 (c) 1975 (d) 1979
Where is Eden Garden ground ?
(a) Delhi (b) Lucknow (c¢) Kolkata (d) Varanasi
Melbourne Cricket Club (M.C.C.) ground is located in which country ?
(a) India (b) New Zealand (c) England (d) Australia
Pele plays which game ?
(a) Badminton (b) Hockey (c) Football (d) Cricket
In which country is Springfield College located ?
(a) England (b) Japan (c) New Zealand (d) US.A.
School of Lipzig is in which country ?
(a) India (b) Myanmar (c) Australia (d) Germany
Bharat Ratna Award is given by which country ?
(a) US.A. (b) England (c) Australia (d) India
Operating System is a/an .
(a) Software (b) Hardware (c) Firmware (d) Industryware
is a storage device.
(a) Keyboard (b) Mouse (c) Hard disk (d) Printer
is the shortcut key to open a ‘New Blank’ document in MS-Word.
(a) Ctrl+B (b) Cturl + N (c) Cul+D (d) Cul+M
Which one of the following is not an Antivirus software ?
(a) Quick Heal (b) McAfee (c) Kaspersky (d) Microsoft Outlook
is an Internet Search Engine.
(a) Google (b) Plotter (c) Protocol (d) Intranet
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36. WNd TR g ‘WY 3fvean’ sy ffeiiad § o forg ad sy fema e 2

(a) 2014 (b) 2017 (c) 2016 (d) 2018
37.  “YRd TR ASHT AT o 3T 31Eq81 A & 2

(a) 1. THTEA g (b) #ft T A

(c) 1. Hves fig sracatfern (d) Suded T & IS T
38. TyfoiRaad o & fore o wRa ® “Geve arfufrm” ey foam o 2

(a) 1968 (b) 1970 (c) 1975 (d) 1980
39. YR ® YU YeEsia Aiemt feferiad § 9 fha o g it 2

(a) 1954 (b) 1955 (c) 1956 (d) 1951
40. YT TR gRT “s8 T el fFrefafad 9 9 fora o e foram o 2

(a) 1980 (b) 1978 (c) 1975 (d) 1979
41, SsAMET A HE R 2

(a) foeett (b) T&ETH (c) ShIcThTdT (d) SToTEt
42. TS fshohe oore (TH T 4t) Beq fpa e A R 2

(a) WRd (b) i (c) T8 (d) rrefem
43. TP @A EEfaE 2

(a) Sfiuea (b) iehl (OERTEIS] COREET
44. fBrThice Sl fra e H 8 2

(a) FAUS (b) ST (c) sfietvg (d) LA,
45. o AT et fra qud 2 2

(a) W (b) FR (c) Iregfera (d) st
46. AT [UEhR fohdt <91 g feam sman 8

(a) ZTH.T. (b) sweie (c) Fregfern (d) WRd
47. TN foen 2l

(a) HTFRRR (b) BTERR (c) BHIA (d) 3SR
48. ST T 3T 2 |

(a) hi-¥TS (b) WRE (c) T fewh (d) froex
49. TH.UE. TS H AT @A gTes Wit shl Iidehe ol 2 |

(a) Ctrl+B (b) Cturl + N (c) Cul+D (d) Cul+M
50. = o O $F 91 T THERRE aiged) T8 8 2

(a) faae &1 (Quick Heal) (b) BHITHl (McAfee)

(©) FETHT (Kaspersky) (d) TTEEhIHTTE 33Tk (Microsoft Outlook)
51. Teh UCTIE T §91 1 |
......... @T@ o) @ e @ e
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59.
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If the 3™ day of the month is Monday, which of the following will be the fifth day from
21% of this month ?
(a) Monday (b) Sunday (c) Wednesday (d) Friday

Find the missing number :

(a) 90 (b) 97 (c) 107 d) 117

Choose the correct alternative that will complete the series :
AZBY, CXDW, EVFU, ?
(a) SHTG (b) GXHW (c) GTHS (d) STHO

Shyam travels 7 km towards North, then turns right and walks 3 km. He again turns to his
right hand side and moves 7 km forward. How many kilometres is Shyam away from the
place of his starting the journey ?

(a) 7km (b) 6 km (¢) 3km (d) 14 km

The ratio of the ages of the father and the son at present is 7 : 1. After 4 years the ratio will
become 4 : 1, what is the sum of the present ages of the father and the son ?

(a) 32 years (b) 35 years (c) 29 years (d) 38 years

Study the diagram and answer that how many educated youths are unemployed :

Educated
Youths

AN o
\7\s/

Youths from
Backward Classes

(a) 8 (b) 3 () 19 @) 11

‘A x B’ means ‘B is the mother of A’ and ‘A + B’ means ‘B is the husband of A’, then which
of the following means ‘M is the son of N* ?

(a) P+tNxM (b) NxM+P (c) K+MxN (d L+MxP
Who has written ‘Mrichchakatikam’ ?

(a) Bhasa (b) Kalidasa (¢) Vasubandhu (d) Shudrak
Who was the founder of Satavahana dynasty ?

(a) Satkarni I (b) Yagyasri Satkarni

(c¢) Gautamiputra Satkarni (d) Simuk
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Ffe A& o1 dTex o Fman 2, a0 = § 9 o 91 36 |18 6 21 9t @ gi=ei fed g 2
(a) HHAR (b) Term (c) guER (d) IR

e s b1 7T &

(a) 90 (b) 97 (c) 107 ) 117
gt ferehen i S 2oft 61 qof e 2

AZBY, CXDW, EVFU, ?

(a) SHTG (b) GXHW (c) GTHS (d) STHO

v 7 fob. 1. I 6 T 1 7, ThL 98 g geat 3 Tob. 1. ST & | 91 IH: 3794 g g1y <6
T Tl 2 3R 7 b0, S 8 | 319 32 319 TRimTe €™ & fopafi gL g 2
(a) 7T (b) 6T (c) 3Tt (d) 14 ..

Toran 37 g ST I 3T T ST 7 : 1 7 | IR TS S1¢ I 31U 4 ¢ 1 8 A1l 2, A FaqH
T far 371 g Sl 3T T AT R AT 2
(a) 3299 (b) 3599 (c) 2998 (d) 3899

T Faamgan sars fob foham farféra Jan St 2

Tarfera gan
TSR oA
AN
\7\3/
firesg =il o o
(a) 8 (b) 3 () 19 (d 11

‘AxB R AF2TR B, AR AT MM A+B w3 fr B, ARl ® | 98 ‘M, N
Wy hfmufmiasr s a2 2

(a) P+NxM (b)) NxM+P (c) K+MxN (d) L+MxP
‘T ey’ feha foreht 2 2

(a) W (b) hricterd (c) IgTY (d) Y5
YIAaTE a7 ST TEATIh Hi AT 2
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PART -3
Uttarakhand Related Various Knowledge

61. Which of the following sub-tribes of Uttarakhand has not its habitats in high mountains ?

(a) Tolcha (b) Shauka (¢) Khunka (d) Marcha
62. Govind Wildlife Sanctuary is situated in which of the following district ?
(a) Chamoli (b) Uttarkashi (c) Pithoragarh (d) Nainital
63. Which of the following pair is not correct ?
(a) Lipulekh — Pithoragarh (b) Tungan — Chamoli
(c) Barahoti — Uttarkashi (d) Trail — Bageshwar
64. Which of the following thrust separates the lesser Himalaya and the Greater Himalaya in
Uttarakhand ?
(a) Main Boundary Thrust / Fault (b) Trans Himadri Thrust / Fault
(c) Main Central Thrust / Fault (d) Almora Thrust / Fault

65. Kotadun is located in which of the following districts ?

(a) Pauri (b) Dehradun (c) Nainital (d) Champawat
66. Which of the following district of Uttarakhand lies mostly in Tarai region ?

(a) Udhamsingh Nagar (b) Dehradun

(c) Almora (d) Tehri
67. According to the Census 2011, the population density of Uttarakhand was

(a) 189 persons per sq. km. (b) 260 persons per sq. km.

(c) 300 persons per sq. km. (d) 289 persons per sq. km.
68. Lakha Mandal is situated in which district of Uttarakhand ?

(a) Tehri (b) Dehradun (c) Pauri (d) Haridwar
69. Which of the following district share boundaries with maximum number of districts of

Uttarakhand ?

(a) Nainital (b) Almora (c) Pauri (d) Chamoli
70. Which of the following pairs is not correctly matched ?

Capital Ruler

(a) Srinagar — Ajaypal

(b) Chandpur Garhi  — Bhanupratap

(¢) Almora — Kanakpal

(d) Tehri — Sudarshan Shah
71. Whom did Aurangzeb send to the court of Prithvipat Shah to get Suleman Shikoh ?

(a) Mohan Singh (b) Ram Singh (¢) Shyam Singh (d) Man Singh
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-3
ITEUE A FEieq fafae e at
frefariad o 9 SauEve 6 forg Su-—SeTTtd o1 FaE-sM S= e 4 8 B ?

(a) drAST ORUE (c) G (d) st
Tifere =i FvaRy fFrfaiad # @ frg sHue & fa 8 2
(a) =HIAl (b) AT (c) fuemrTe (d) e
freafafea g a s gmadi 78 8 7 o
(a) forgere — fueiiare (b) /g — =mich
(c) TSTEI — ITRhTIM (d) & — qARE
IS | AR & SIH 91 W= oY ferTerd 31 78 a1 o 3Ter idl 8 ?
(a) T HIHTT 30T (b) gr=a fewmer™ v
ORAGETARE N (d) 3TCHIST ¥
ffcTRad sG] § § ehiergd fohem fafed g ?
(a) W& (b) <ETGH (c) Jfrarat (d) =HTEd
ITAUGUE h hiH & SIE T &1 T&Ia: aUs & § fRa @ 7
(a) SuHE TR (b) <TG (c) 3reHTeT (d) =l
2011 6T SFITUET o AR, ITTEUE § SFTe- o |
(a) 189 =afea fa ot fop. . (b) 260 =afe gfa ot o,
(c) 300 =afea gfa ot o . (d) 289 =afea fa ot fo. .
AT HUg ITEvE o fopd Tt o fua 8 2
(a) fezti (b) <G (c) W (d) BRER
T @ 1 e @1 foren Saurave & gaifees et @ @ arsn A g ¢
(a) e (b) 3TcHTET (c) Ut (d) =t
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TR IEH
(a) R NSRRI
(b) TR el —  WIIaT™
(c) 3Temrel . ERI
@) fett R SRR
ST Gt fTehTz bl 91 HT o fof¢ gesfiod A1g o R § feherehl Sofm o 7

(a) HIEARE (b) e ORRILIGH (d) "fE
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72. Who among the following was responsible for the comprehensive land settlement in
Garhwal ?

(a) Hardwick (b) Atkinson (c) Beckett (d) Ross

73. What is the historical name of Uttarkashi ?
(a) Barahat (b) Brahmapura (¢) Ranihat (d) Baijnath

74. Which of the following places was known as Mayapuri in ancient texts ?
(a) Rishikesh (b) Kotdwara (¢) Almora (d) Haridwar

75. Who among the following Parmar rulers had the great military leader Madhosingh Bhandari ?
(a) Man Shah (b) Fateh Shah (¢) Mahipat Shah (d) Lalit Shah

76. ‘Nak Katti Rani’ of Garhwal was ruling on behalf of which Parmar ruler ?
(a) Shyam Shah  (b) Mahipat Shah (c) Prithvipat Shah  (d) Fateh Shah

77. Which King of Garhwal gave land to Sikh Guru Ram Rai in Dehradun ?
(a) Fatehpati Shah (b) Prithavipati Shah (c) Pradeep Shah (d) Medini Shah

78. What was the name of the Mughal prince who took asylum in Srinagar Garhwal ?
(a) Dara Shikoh  (b) Suleman Shikoh (c¢) Murad (d) Sipihar Shikoh

79. ‘Manodya Kavya’ was composed during the period of which Panwar ruler ?
(a) Man Shah (b) Sahajpal (c) Pradeep Shah (d) Medini Shah

80. Who was the founder of Srinagar (Garhwal) ?
(a) Sahajpal (b) Ajaypal (c) Man Shah (d) Fatehpati Shah

81. Garhwal was under Gorkha rule during which years ?
(a) 1804 —1815 (b) 1815-1837 (c) 1800—1835 (d) 1803 — 1900

82. In which year the publication of newspaper ‘Garhwali’ began ?
(a) 1868 (b) 1871 (c) 1902 (d) 1905

83. Who of the following is the author of the book based on the Chipko Movement titled ‘Hari
Bhari Ummid’ ?
(a) Dham Singh Negi (b) Vijay Jardhari
(c) Ram Chandra Guha (d) Shekhar Pathak

84. The tax levied on the Brahmans under Gorkha rule was —
(a) Kushahi (b) Pungadi (c) Salami (d) Timahi

85. Which of the following is not a folk instrument of Uttarakhand ?
(a) Dhol Damau (b) Ransingha (¢) Hudka (d) Tanpura

86. ‘Kalsi Inscription’ is related to —
(a) Chandragupta Maurya (b) Kanishka
(c) Ashoka
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FrefeTRad | S TeaTe o SATIh M SeIaEd o ol STErT o7 ?
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87. In which of the following work Char Dham project of Uttarakhand is associated with ?

(a) Maintenance of temples (b) Road construction
(c) Pollution control (d) None of the above
88. Which of the following is related to “Golden Card Scheme of Uttarakhand Government™ ?
(a) Food grain distribution (b) Free treatment
(c) Domicile certificate (d) None of the above

89. According to Census 2011, the literacy rate of Uttarakhand state is :
(a) 87.28% (b) 82.38% (c) 78.82% (d) 90.21%

90. Which of the following scheme was started by Uttarakhand Government in 2013 for women
empowerment ?

(a) Ananya Yojana (b) Gaura Devi Yojana
(c) Nirbhaya Yojana (d) None of the above
91. Which of the following portals launched in Uttarakhand to provide employment to youth ?
(a) HOPE (b) Rojgar (c) Employment (d) None of the above
92. Who among the following is the Chief Secretary of Uttarakhand at present ?
(a) Lt. Gen. (Retd.) Gurmeet Singh (b) Sukhbir Singh Sandhu
(c) Surjeet Singh Barnala (d) Vipin Chandra Joshi

93. Who among the following has been selected as the first recipient of Uttarakhand Gaurav
Samman in the field of Music ?
(a) Narendra Singh Negi (b) Preetam Bharatvan
(c) Pawandeep Rajan (d) Basanti Bisht

94. Who among the following candidates won the by-election held at Bageshwar in Uttarakhand
in September, 2023 ?

(a) Chandan Das (b) Basant Kumar (c) Parvati Dass (d) Arjun Kumar Dev
95. How many members are elected in Lok Sabha from Uttarakhand ?
(a) 4 (b) 6 (c) 5 (d) 7
96. Shyamla Tal is situated in which district of Uttarakhand ?
(a) Bageshwar (b) Champawat (¢) Almora (d) Tehri
97. Which of the following river forms the natural boundary in the west side of Uttarakhand ?
(a) Alaknanda (b) Bhagirathi (c) Tons (d) Kali
98. Which of the following tribe does not belong to Uttarakhand ?
(a) Tharu (b) Bhotia (c) Raji (d) Gaddi
99. Tehri dam has been constructed on the confluence of which rivers ?
(a) Alaknanda and Mandakini (b) Bhagirathi and Asiganga
(c) Alaknanda and Pindar (d) Bhagirathi and Bhilangana
100. Maneri-Bhali Hydropower project has been constructed on which of the following rivers ?
(a) Eastern Ramganga (b) Bhagirathi
(c) Alaknanda (d) Western Dhauli
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